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Worksheet: Problems Involving Solutions

1. What mass of solute is req'u.ired to make up the following solutions?
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2. What is the molarity of the following solutions?
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(b) A 5.0 L solution containing 10. moles of MgCl,?
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3. How many moles of each salt are present in:

(@) 10. mL of 3.0 M of KCI? e SRR W
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(b) 5.0 L of 12 M NaCl?
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4.What volume of solution is required to make up each of the following solutions?

(a) 1.2 moles of MgSO, are used to :nj ake a 1.0 M solution?
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(b) 0.050 mole of Agl are used to make a 1.0 x 10 M solution?
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5. calculate the volume required to prepare the following diluted solution:
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6. If water is added to 100 mL of a 0.15 M NaOH solution until the final volume is 150 mL, what
will the molarity of the diluted solution be?
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7. 1f 25 mL of water is added to 125 mL of a 0. 15 M NaOH solution, what will the molarity of the

diluted solution be?
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8. | have 345 mL of a 1.5 M NaCl solution. If | boil the water until the volume of the solution is 250
mL, what will the moianty of the solution be?
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9. Write the dissociation equation for each of the following solutions and then calculate the——
concentration of each ion in each solution.:
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